
2

10

3

19

17

6

20

16

13

7
4

12

9

8
15

8

14

18

5

1PSI/ 69 mbr
 pressure relief
valve

1

21 22

-GRAMS

2" EASY RISER FOR USE WITH SPIRIT - ALMC0041

2" EASY RISER FOR USE WITH DIESEL- ALMC0065

NOTE**FOR USE WITH DIESEL REMOVE ITEM 2 AND REPLACE WITH 
ITEMS 21&22

ITEM NO PART NO DESCRIPTION
21 ALSCER0022 QUICK RELEASE BAYONET FITTING
22 ALSCMISC0108 STANDARD VENT COWL

ITEM NO. PART NO PART NUMBER QTY.
1 ALSCER0020 Knuckle joint assembly 1

2 ALSCER0001 Quick Release PV valve 1
3 ALSCER0006 3000mm ali tube 1
4 ALSCER0002 Ali handle 3000mm 1
5 ALSCER0008 Retaining clip 1
6 ALSCER0003 2 inch Stainless steel clamp 2
7 ALSCER0012 Rubber grip 1
8 ALSCER0019 Rubber bellows 1
9 ALSCER0014 Handle locking device 1

10 ---- anodized tube fitting 2
11 ALSCER0013 Swivel joint 1
12 ALSCMISC0175 M10x 10 grubscrew 4
13 PKBRLS02 Padlock KA 1
14 ALSCMISC0120 70MM Jubilee clip 1
15 ALSCMISC0121 120MM Jubilee clip 1
16 ALSCMISC0025 M10 x 50 set pin 2
17 ALSCMISC0018 M10 Nyloc nut 5
18 ALSCER0021 Support bracket 1
19 ALSCMISC0025 M10 x 40 set pin 1
20 ALSCMISC0022 M10 x 30 set pin 2

D

E

F

C

1 2 3 4

B

A

321 5

C

D

4 6 7 8

A

B

EASY RISER assy dwg

WEIGHT: 

A3

SHEET 1 OF 1SCALE:1:50

DWG NO.

TITLE:

REVISIONDO NOT SCALE DRAWING

MATERIAL:

DATESIGNATURENAME

DEBUR AND 
BREAK SHARP 
EDGES

FINISH:UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
SURFACE FINISH:
TOLERANCES:
   LINEAR:
   ANGULAR:

Q.A

MFG

APPV'D

CHK'D

DRAWN

THE INFORMATION CONTAINED IN THIS
DRAWING IS THE SOLE PROPERTY OF THE 
ORIGINAL EQUIPMENT MANUFACTURER
BERRYS TECHNOLOGIES,  ANY 
REPRODUCTION  IN PART OR AS A 
WHOLE WITHOUT THE WRITTEN 
PERMISSION OF BERRYS TECHNOLOGIES 
IS PROHIBITED.
BERRYS TECHNOLOGIES LTD
141 LITCHFIELD RD -ASTON  
BIRMINGHAM -B6 5SP
UNITED KINGDOM

PROPRIETARY AND CONFIDENTIAL

ALMC0041

A

J.W

ALI/S/STEEL

ANODIZED- 
BLUE/ 
GREEN


	Sheet1
	Drawing View1
	Drawing View2
	Drawing View4
	Drawing View5


